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(A) 1-2-3

(B) 1~2-3+5

(C) 2~-3-4

(D) 1-2+3-4

(B) 2-3-4-5
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(A) 123

B) 1-2-4

(C) 1-3-5

(D) 2-3+4

(E) 1-2-4+5
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(A) 1+3
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(C) 2-4

D) 3-4

(B) 1-4-~5
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(A) 1-2-4
(B) 1-3-4
(C) 1-3-5
D) 2~3-4
E) 1-2-4-~5
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(A) 1-2+3

(B) 1-3-+4

(C) 1-2-4

D) 1-2-3-4

(E) 1-2-3+5
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(A) 1-2-3+4

(B) 1235

(C) 1-3-4-5

(D) 2-3~4-5

(E) 1-2-3-4-5
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(A)1~2+4

B)1-3-4

(C)1-3~5

(D)1+~2-3+5

(E)1~3-4-5

Which of the following examples of events or conditions (inherent risk factor ) that are most likely relevant to “Susceptibility to
misstatement due to management bias or other fraud risk factors as they affect inherent risk” » (1) A wide range of possible
measurement criteria of an accounting estimate, (2) Significant transactions with related parties + (3) Opportunities for
management and employees to engage in fraudulent financial reporting * {(4) Transactions that are recorded based on
management’s intent » (5) Pending litigation and contingent liabilities.

(A) 1~2-~3

B 2-3-4

(C) 2~3~

D) 1-~2-~3-4
(E) 2~3-~4-5
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9. Using automated tools and techniques based on the suggestion made at ISA 315 Revised (2019), the auditor may perform risk

assessment procedures on large volumes of data (from the general ledger, sub-ledgers or other operational data) including for
which of the following? (1) inquiry * (2) reperformance * (3) observation * {4) reconciliation * (5) recalculation.

(A) 1~2-~3

(B 2~3-~4

{(C) 2-4-5

(DY 1~-2-~3-4

(E) 1-2~4-~5
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(A 2-4
B 1-2-4
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(B) 1-~2~3-

M ELAY » THMETHESE (1) EBABERTELBREREY AT ExE - SHMAFe » XA ST
28 QQEBAENTEEH U ES BHRELEH 2 BERATERER Q) 2 AR RAR SR E4MEAT
REEF RN ARF AR RARAEREHEZELIAT @) EHHERCERCEEMERUNTEMARLIZRE
£E OVEBHEIROEHEHNAB FARRALE~F EMEFZINY - HHARE -

(A) 1-2-4

(B) 1~2-~5

(C) 1-3-5

D) 1-2-3-5

(E) 1-~2~4-+5
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(A) 24
(B) 3-5
(C) 1-2-5
(D) 2-3-5
(E) 345
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D) 1~3-4
(E) 2-3-4
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(A) 1~2-4

(B) 1-3-4

(C) 2-3-4

(D) 2~3-5

(E) 1~2-3-4
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(A) 123

(B) 1-3-4

(C) 2-3+4

(D) 1~2-3+4

(E) 2-3-4-5
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(A) 1~2~3

(B) 1-3-4

(C) 2~3-4

(D) 1-2-3-4

(E) 2~3+4-~5

19. Which of the following subsequent events will be least likely to result in an adjustment to the financial statements?
(A) Culmination of events affecting the realization of accounts receivable owned as of the balance sheet date

(B) Culmination of events affecting the realization of inventories owned as of the balance sheet date

(C) Material changes in the settlement of liabilities which were estimated as of the balance sheet date

(D) Material changes in the quoted market prices of listed investment securities since the balance sheet date
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(A) 1~2-4

(B) 1~2-+5

() 2-3-4

D) 2~3+5

(E) 2~3+4+5
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(A) 1~2+3 |

(B) 13-4

(C) 1-2-3-5

(D) 1-3~4-~5

(E) 2~3+4+5
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(A) 1+2+4
(B) 1-3-4
(C) 2-3-4
(D) 2-3-5
(B) 1-2-3+4
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(A) 1~2~3

(B) 2-3-4

(C) 2-3-~

(D) 1~2-3~4
(B} 2-3~4-5
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(A) 1-2-4

(B) 1-3-4
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27. What is the primary objective of testing all individually significant items rather than sample testing?
(A) To increase the audit risk at which a decision will be reached from the results of the sample.
(B) To increase sample size.

(C) To accept no sampling risk for items greater than tolerable misstatement.

(D) To increase the size of the confidence bound around the projected misstatement.

28. After issuance of the auditor's report, the auditor has no obligation to make any further inquiries with respect to audited financial
statements covered by an auditor's report unless

(A) Alawsuit in which risk of loss was considered remote is resolved in the company's favor

(B) An uninsured natural disaster occurs which may affect the client's ability to continue as a going concern

(C) A material fraud is initiated by an employee after the report is issued

(D) Evidence of significant, non-arms-length, related party transactions that happened prior to year-end is discovered

(E) A fire destroyed the client’s plan after the audit report date but before the date the financial statements are issued.

29. Key segregations of duties in the human resource management process include all of the following except
(A) The supervision function should be separate from the payroll-processing function

(B) The disbursement function should be separate from the supervision function

(C) The human resource function should be separate from setting salaries

(D) The payroll-processing function should be separate from the general ledger function

BO. AR A DME ~RIAE B AR EEHT AL (1) F 3k () Bkt (3) THEM @) TEM
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(A) 1-2-4

(B) 1-3+4

(C) 3-4-5

(D) 1-3-4-5

(E) 2-3-4+5
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3. Audit Procedures and Assertions (3 10 4)
l%Match the test of controls described below to the appropriate assertion it is uéed to test: (&2 4+ 3£ 10 4

Assertions;

a) Occurrence
b) Completeness
c) Accuracy

d) Cutoff

) Classification

Test of Controls;

~ |1) Compare the dates on the receiving reports with the dates of the relevant vouchers

2) Review monthly bank reconciliations

3) Test a sample of vouchers for the presence of authorized purchase order and receiving report
) Review the cash disbursements journal for reasonableness of account distribution

5) Trace a sample of receiving reports to their respective vendor invoices and vouchers
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